Multiply decimals by powers of ten

2.336 x 10000 =

2.147 x 10000 =

7.07 x 1000000 =

8.153 x 10000 =

6.865 x 10 =

2461 x 100 =

1.583 x 1000000 =

4.315 x 1000 =

Date: Score:

4.525 x 100 =

1.802 x 10 =

5.541 x 10 =

5.189 x 10 =

7.076 x 100 =

10.092 x 100000 =

5.569 x 10 =

10.179 x 10000 =

8.7 x 100000 =

7.522 x 100000 =

8.767 x 100 =

4.055 x 1000 =
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Multiply decimals by powers of ten

2.336 x 10000 = 23360

2.147 x 10000 = 21470

7.07 x 1000000 = 7070000

8.153 x 10000 = 81530

6.865 x 10 = 68.65

2461 x 100 = 246.1

1.583 x 1000000 = 1583000

4.315 x 1000 = 4315

10.179 x 10000 = 101790

8.7 x 100000 = 870000

Date: Score:

4.525 x 100 = 452.5

1.802 x 10 = 18.02

5.541 x 10 = 5541

5.189 x 10 = 51.89

7.076 x 100 = 707.6

10.092 x 100000 = 1009200

5.569 x 10 = 55.69

7.522 x 100000 = 752200

8.767 x 100 = 876.7

4.055 x 1000 = 4055
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